&) Teachingninia.in

RRB GROUP - D (26:(

W Latest Govt Job updates

ﬁ Private Job updates
* Free Mock tests available

Visit - teachingninja.in

@ Teachingninja.in



RAILWAY RECRUITMENT BOARDS
Yo aiclt a2
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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted
and used for raising objections
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QU Sfafta & ¥ i @ Res gl woa gt ¥ Feean Fama e 82

TR 3Tepich:

§
@@

Ans 1 C
X2 A
X3 B
v 4D

Q2 37 vs 72 m & A § T §1 98 TF X ¥ gE O a9 R o HY 99 38 T A
# 144 m #1 gl & A # 97 &= §, 3R Ad @ A S
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e X1 2.04 ms
V7224 ms
X2 260 ms'
X4 367 ms'

Q3 29th of November 2018 is a Thursday. 20th of November 2021 willbea
Ans X 1. Saturday

X 2. Sunday

v 3. Monday

/X 4. Friday

Q.4 RfieT R F T Faw F @A F R Foeh ST BITARIEHT Fr 37T BT ST B

Ans XT aj
X 2. PlreldmTsAT
X 3 TR AT
v aftafes

Q.5 Who among the following was appointed as a whole-time member of market regulator Securities and Exchange Board
of India (SEBI) on 7 November 20177

Ans X' 1. UK. Sinha
/X 2. V. Ramakrishnan

X 3. Neelam Damodaran
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' 2 Sanjeev Kaushik

¥ R T FHERT F g &g WA IS [eT F AT

cot 30° 9 1 +sin 45°
1 +sin45? cot30°?

A o BY3-648
B

X23-243

W E 14+4/3-5v6
B

x 4 646-543
6

28

¥ uF gEe g

Ane X1 Ferhfdras (Magnesium)
v 2 FarfIF (Chlorine)
X s et (Krypton)
X 4 OifgEaE (Sodium)

¥ ofEe TieE AN R aEiTe p=g-o
Ans X 1. arcuTTEeT weEr
v 2 of¥gs Feme
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X 3 TS
X 4. FERTSE

¥ fta # ¥ FiF O Reer gy sErer e

Ans ?(1 C

SR HTepTaT:

[>< [oom>< [ <00

?

e smpiaa:

A B C

<0< | Zooos | <000

X2 A
V3D
X 4B

Q.1
0

cot*® + cot?0 = 2.2, & cosec*d - cosec?d =?

Ans x-l_ 0

X211
X333
v 22
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G Fr & U e F AR 3N T AT F

26, 29 .33, 38,

Ans X 1. 42
X 2 50
v's 44
X 4 54

U gfr C=24, EYE=46, @ FOX =T &7

Ans X1, 38
v'2 36
X3 35
X 4 40

% ‘COUGH' #r &ifaer avur iy #am grefe?

COUGH

HoUO2

CONeH

HaMOD

X
0O >» 0 O
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041 e R 71T siiwst & Sgors, ACaH AR AT F AYTH FANEGS AT ST
7,2, 10, 4, 3, 12, 8, 4, 6, 4.

Ans X 1. 30

X212

V'3 60

X420

U =g vk 7 3eTer ug =T 2

24X, 22V, 20T,
Ans o 1. 18R
X 2 16P
X 3 R18
X 4 P16

Q.1 100 kg FEzE T CE AFG F 6 s FOSmsT F LITmsT & v ¥ vewAW 7 F @R =T T
¥ IFg T T AT qF F IROTH gl

Ans xl 200 ms_z

X2 200 ms™
'3 200 N
X 4 200 Pa
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Q.1 Which of the following project’s objective is to ensure the operational turnaround of the banks and stressed companies?
7

Ans X 1. Project Samridhi
< 2. Project Sukanya
' 3. Project Sashakt
/< 4. Project Parivartan

U bxy?z, 8x2y3z2,12x3y3 2% & HE. FIT ST
Ans X 1. 2xyz

X 2 4xy?z

X 3 3xy?z

v 4 2xy?z

% 233 gzinc & Aew HrEEar @
Ans of 1.0.35
X 2 0.25
< 3 053
X 4 037

Q.2
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* B R A A amaa B

Ans 140
2 11
3 15
413

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

01-2 TF U F € & T [§F T §| AR T 99 ST § F P F e d HT F FF w2
S

FT THSTer & HETehal & HH i F O Jeier OX @ BT FA F7 39U T ANge?

L
. g7, 88 FETUA & Fua g AR e sgegaar = r ggEr e
Il =85, et g & s wiEnd & R wf W = wie 98 gy E

e X a1 e & meea
Xegadr 1 ARA I A= &
Vo Fae % | e

X4 Fae 9 || A=Gd 8

Q2 2017 & AT 643 el oot 315 & THHSE HPAT 1 TEHR 5wy er?
Ane XK. anfeR @re
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X 2 AMETH G
v 3 3T FAR

X 4 ToAHT T

% g T FaE F AT G e F Fed 2

M g e

X 2 SArared (Bifde) AT
X 3. =aIA(eTEse)FAT
K 4 GTATL FA

Q.2 7 6000 #r T T 20% T a7 o aF ¥ a2 &ar =i 3 ofg =orer 9 o=y sw gy = 18

4 A T g iy g
Ans o1 T 7,986

X2 % 7,896
3 ¥ 7,800
X+ T 7928

Q.2
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Ans

few a7 et Hit et 7 coeEE 9 st g9 FlE @ et aifee W ¥ Fe o osgar
e 2

YA
W T TA TG T A T
forsad:

|. TeTET ST EET FEr T £

Il. 9 Taw THL GUeaH F TF T

Koaarl i a & Il 3gEor 2 B
v 2 e S || TR0 HET B

X o e sy | gERor Far 2

XK o gt oY HTEIOT A B

Q.2 Vimal is the son of Mikka, and Nina is the daughter of Milan. Milan is the sister of Mikka. Who is Milan to Vimal?

6

Ans

X 1. Sister

' 2 Paternal aunt
/< 3. Maternal aunt
X 4. Cousin

Q.2 24 experts can do as much work as 40 trainees in a given period of time. A piece of work can be done by 9 experts and

7

Ans

25 trainees. How many trainees alongside 12 experts would one need to complete a similar work in the same duration of
time?

X122
v 2 20
X318
X424
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L RrmffEm 4ot & 9o REa (7) B9 @ dE giewiE w2

?

KO | AA va | RO NG| YA

va | N0y N | AA AL | KO
I E——

va | RO RO | AA
NG| AS s | NO

NG| A
A58 | KO

A& | NO
KOl | VA

Ans of 1 C
X2 A
X 3B
X4D

Ve aEmd e vele RemAEe @
e . e

X 2 sifE

X s

X 4 grEgetet

Q.3
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o= aeT vF dEn &1 7.2 A # 9T = AT § FES AY F a0 F9 5 A 10.8 T W §
TH-ATH HH B I EEAN & 5/6 907 Ft 92 1 7 ey Ty swmer?

Ans X1 4.8
V2 36
<339
X442

Q.3 3-0.2 o iy
0.1 %(3+0.2)

Ans of 1.8.75
X2 875
/< 3 0.0875
X 4 0.875

S R oTT s F ek wE

1200, 600, 300,
Ans X 1. 75
V' 2150
X 3 250
& 4 500

Q.3
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T 39 FR H NS e A # T IR S ¢ 6 ToaE A 56 AR & g S#ET 8,
ar 3eTe TeaE 98 O RF oo swamsh?

v 1. FIEER AR AR
X2 gETeER AT afFar
X o HFER 3R AR
K4 e 3R afeEr

Ans

23 0.36+0.284+ 0.4 x 0.8—0.038 =?
Ans X1.1.25

< 2 0.548

X312

v 4 0.89

U3 Frefafem & & Fia @ Ree gl wea agfoat & Fweaw Famear aufih 872

Ans «1. D
X2C
X3 B
Xa A
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A 2018 & e F gEEES A ¥?

Are XK & Tomelr T
X o U Teg g ATE

V5 ¥ gt I
X 4 & I TH T

@3 The objects that produce their own light are called as:
Ans 3 1. Transparent objects

+ 2 Luminous objects

< 3. Translucent objects

/< 4. Nonluminous objects

% afr dEar 584, 11 & BT ¥, & x 7 "F FT @
Ans 1 4

X2 2

vz 3

X 45

Q.3
& teachingninia.in
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HeTaT FT T 2
Ans «1m .

X 2 |

X 3. Serelr TiE

K4 Araa

064 The guard cells swell when flows into them causing the stomatal pore to open.

Ans X' 1. enzyme
v 2 water
< 3. chemical
< 4 hormone

01-4 a¥ 2017 &, form i IO # ARdE 92 vE Afger ae ger da o w@efew ww ara
E I

A o1 g o #a

X 2 & grdr Afaua rdr
K5 fg grer o5 &9
X+ & iAoy 5w

Q.4

2 T H 92l AT F 8 =aggar # ary 9T FET 2
ans X1 XE
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X2 Kr
V'3 Ar
X 4 Ne

Q.4 e e $r gF & HeET-seT At ¥ % fFw o @ B 600 S=e TlEdr ¥ 20% Fe e

3 .1 3k 80% Ae T -2 ¥ R G ¥ OF st F FT TA T 25 ¥ AT 2 & A A7 ween
FT F G, GEWEN H AT Tor § 7 25% A fFF e e $r 33 g% & s9aer s wwar
&1 T A g sied 7 huer ar § T -2 ¥ 3% e g9 9w e

Ans 1. % 3,500
v 2 % 3,000
X3 % 3,750
2 4 % 4,000

Q.4 Pallavi’s house faces East. On entering her home, you will find a gallery to the right-hand side and on moving 90°
4 clockwise from the gallery there is a balcony. Which direction does the balcony face?

Ans  of 1. East

< 2. South
< 3. North
X 4 West

Q.4 In the modern periodic table, elements having atomic numbers 11 to 18 are placed in period:
5

Ans X-L

b4
w
I R

Page (16)
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06-4 T TEEGS #T T 8= 37cm AR ST S5we 840cm? ¥ §WH Fwoit &1 wwrg # A A
FET)

Ans X 1. 84 cm
X2 47 cm
<3 42 cm
v 4 94 em

07-4 forelt avg @ aR(EW) 20 kg ¥ I F 37 TEG F AT (IT)FW BN [g = 9.8ms 2]
Ans o 1196 N
<2196 N
X3 -196 N
X 41960 N

% T S, ¥ 3cuea § "efed ¥
Ans 3¢ 1. ShRTelT TTeITe

v o gafes

X 3 Fe TR

X 4 P
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Q.4 A group of five students took a test. Another student joins the group after taking the test later. With her marks included,
9 the average score of the group went up by 2. This student has got marks more than the average marks without
her being included.

Ans X 1. 15
X214
V3 12
X 418

Q.5
0

F =HF T &7 H gREfag Fifew

Ans

Q.5 37 vs 95 m TF A F T §1 98 TF O ¥ gE O a9 R o HY 99 38 T A
T 3190 m #r gff v foree & a7 a=an &, 3w siwa I wE

Are X12.05 ms!
X2 310 ms'
K2 200 ms'
v 317 ms
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02-5 T FH 3H H AEE vEe AR AEe TeRW (T 1 weEtew Rrew) W Eew aea s aelr s
Fie §?

e XK. wEr T
X 2. FHUT 9T
X 3. 3o faear
v o Ferary oI

Q5 TRz A AT 20 cm X 12 cm X 8 cm E| 16.8 m 5=, 25 m =& 3y 12 om 3 famw ==
3 Ryu frmed &2t $r smavTwar gl

Ans 1. 6252
X 2 2652
X 3 5262
v 4 2625

QS F ar #r FE A Hr S § A e 4R FH g e gl

Ans x1_ W—ﬁ g
v o ey
X 3 Teh

X o drer s

% 3ol TEHR Sfew aTel gEY SR Afyer Beater fendr B o2

Page (19)
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A o1 aEaRE FaH &
Xz.wazﬂ-
X o foarer o=
x4 sfefa e

Q.5 v o7 & FART @ s & AR 99 & 9iET F ed Ry & sey § o 99 & awae &
6 b A T F See F HET A F WA §, & g F PR B s e g

e X1 288 Tfeew
v 2 576 TfweH
X s 432 gfeew
X 4 336 FfercH

¥ cedERAEEwE) T ¥
Ans xl alm

V2 TEGH

X 3 ST

X 4 S

Q.5
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3 U=ar F 9= & v o @iF & 3 g6t & v G F e A arfesr & e aw §
RS T T H T

=1 T2 | T=F 3

T 1 15 12 9
Tf 2 12 14 8
a¥ 3 14 15 13

af 1 ¥ af 3 #r A F Bae ofdew s 2
Ans X 1. 18%

X 2 15.67%

X 3 19.67%

v 16.67%

Y frafafe ¥ ¥ #iF @ w T e 8
Ans x_lalm
x» T
s
X gt

Q.6 mﬁ¢wmﬁm$m,mﬁﬁmﬁwmmﬁ%m@ﬁgwn
0 oo

At o afae e
X2 grarafas F=r
X o feufas F=r
X 4 Tifes F=r

Page (21)
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% gt F Tl unet & Fi @ =T @
e o feufas we

X 2 fagga =

Ko afgs F=r

XK 4 TCATRIOT ST

C@40-(90+5x%x16—-—8 +2=+3)}=2
Ans K114

X2 64

V'3 16

X4 28

Q6 Trfafe & 3 #iF ¥ 39w 7 17 § ondw tRee el Rt & FEdcs TEER d9e - G
3 & gwEw e

Ans X’IWE‘F
v o HTS TF
X 3 TSR e
X o S F7gT
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% TER oSS aF ¥
Ans S

2. Cl

3. Mg

4. Al

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

05-6 Who is the first chairman of the Goods and Services Tax (GST) Council?

Ans X 1. Prakash Javadekar
2 2. Suresh Prabhu
#< 3. Rajnath Singh
' 4 Arun Jaitley

Q6 5, RF 7 af ok 31 AR 58 Y F T 79 8, A S H g Bed 2

K16 T

X228 ay
V3245 I%
X418 I

Page (23)
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07'6 A & T AT XYZ S ¥ waat (F00F TuT &) 3T wfved & ot # gaier 3

Gl TR
2012 10
2013 15
2014 10
2015 12
2016 12

T¢ 2012 3K 2016 F &= & Tosiay & 9igas & gfaea =1 &2

e X1 0.2% 3
v 2 20% 3ferE
X 3 5% 3=
X4 12%

Qé" 2.05 Hrex o T YW F AN § 2 m A T IR F gl Aw Hiw
Ans X 1. 41%
V2 2%

41
X3 42%
X4 229

51

Q.6

Page (24)
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Which of the following correctly represents the relationship between:
A) Pages
B) Preface

C) Books
<

OO0 @
o
) 2

100
Note: For this question, discrepancy is found in question/answer. So, This question isiignored
for all candidates.

067 v a9 o 3 Fr 2 o F o wwhar § S gEu TR éﬁn?wmaﬁwgﬁ%a‘%ﬁm
T Wbl g1 el UIZHl HT FH GAT Grel 370 o= & a-TEE @ an) iF A e & e
AT wEET?

X 1.3 g 20 B
X2 3 ge 45 B
X33 g 15 B=e
v 3 g 30 fBee
Y fs @ oag & 7 g ¥, S Sgh & &

X

Page (25)
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X2 eafy
v g
X 4 aTEH

°é7mﬁmqﬁﬁwmwﬁmamﬁgﬁ§%zﬁ?
AP a—s

v+ w

X HEs

X 4 R

°3'7 Work is done if there is

Ans of 1 energy
X 2. power
< 3. force
X 4 friction

Q.7 v oieT F W= F 272 37 9T T S 64% 3 T FOT F SUET or) wieT e o & o
4

Ans 1. 440
X 2 475
X 3 450
v 4 425

(& Teachingninia.in
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Y i wehe & Bwor #F FM urg # garr S g, A
e i s @ &
X 2 TS 3fTFaEs aaar ¢

/3 HYT Fehe TA4T &
X 4 oredr gAaT B

Y e 2018 9%, TETEeT 3R 9RER Feawr FIr AT #2
A 1 wEsT

Xz.ﬁgﬂ?h'aﬁ
X 3. aguT JATa
X 4 gt Higer T

YV eafy T=RfRe F ¥ B Aras F @99 39 AT S 7
e —

v 2 I\ 9ty

X 3 Il Weld=(degH)

X 4 T TEr

Page (27)
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Q.7 fazer o7 120 km & i wsfre ga v fowa ofg & 97 € off saa @sfee wie 9 3 km o
8 <om$ @ & 3% stwew A wEER # &1 6 wfw W) 97 At A kmhe # e S e
fro= = wsfee woms?

Ans K112
X210
X3 8
v+ 15

% 30 e ¥ 40 e ¥ 3 # w77 & frwr e 2

s of1.3:4
X21:80
X31:20
X44:3

Y T 2018, 9T ¥ Ve I T &2
s X1 s e

v 2 emade g weR

X3 3E AT g

X a '{fgo-! HIATI

Page (28)
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Q.8 Arpan, Tanvi and Rishav shared a cake. Arpan had i of it, Rishav had% of it and Tanvi had the rest. What was Tanvi’s

1 share of the cake?

Ans

v
X 2

02-8 T T Fymt ¥ FEw w ik B F & & o vt F © # & wuw & ke b

HYA:

feae Eua & 39 ReatEa & Bers ged FNEE $ owor # ¥ & 55T 97 S § o

=T g

AT

I. & fagzmera 97 Yiaser & aT T TS £

Il ¥ ot & srperea 1 few Fwe e E

Ane X1 Faer | AaERT Bl

v 2 | 3R 1l gt & At gl

Xegarildkadrll sadfea g
X 4 Faer || dafaa g

Y 9 T T aedt F @ 9@ aeg &

A

B

&

D

5E

Q15

T21

25y

Page (29)
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Ans x1_

X
00>

048 Read the statement below followed by two conclusions.

Statement:

All cables are chairs. No chair is pen.

Conclusions:
1. No cable is pen
2. All chairs are cables

Which of the conclusion/conclusions follows/follow from the above statement?
Ans  of 1. Only conclusion 1 follows

< 2. Both conclusions follow

#< 3. Either conclusion 1 or 2 follows

#< 4. Only conclusion 2 follows

Q-8 2017 & grer & & =Y ISEE vHREET FRTET Fhbe F T T & qEw T god AREw
5 after sedeE 1 AW TA?

e o1 fRETer I
X 2 EHANE B
X' 3g FoR
K4 AT AIRH

(& Teachingninia.in
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% FSAT Afger Gaw ® 9§ =@ RF @A I@n &
Ans ?(19?4%

v g A
X3 9 femsT
X4 8 SeTg

7

Q8 zsmr &, TEMPLE 7 053625 & &7 & foram Aiam €1 PRAY & R & = &7

Ans of 1 6815

< 2 6816
< 3 6915
X 4 6814

% 2017 & e Y 71T 9RA & TET FAaHer F AH §a?

Ans x1m ﬂﬂé

v e s
K3 . FeHeER
X 4 eI #E

Page (31)

(& Teachingninia.in



Qés ufg TAM 7 @F #15 F 7 F 20113 for@r =mar €, aF GRIND & AT #= 7 geme

Ans X1 6189144
v 2 7189144
X 3 7189154
X 4 7199144

%9 In sexual reproduction, the parents contributes:
Ans 1. All of its genes

' 2. Half of its genes

/< 3. Three fourth of its genes

7< 4. One fourth of its genes

% 75+ [35— {63 — (79— 54=9 X 6)}]= ?
Ars of 1.5

X23

X3 25

X415

% T°d EEAT F AR GEAT FGeT B T R
59967, 59964, 59961, 59958,
Ans (1. 59956

(& Teachingninia.in
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X 2. 59954
v 3 59955
X 4. 59957

% Fegea Fer A, AR T A verer AfEAE F & FaTar o)
Ane K1 AT
v SaR

X 3. FTerar
X o TS

Qf Feamar #, EARN T 4073 & & &/ f3@r Siar g1 LIGHT & faw & 2 2

Ans 1. 19679
X 2 18671
X 3. 18670
v 4 18679

Q.9 Vviki cycles 2 km towards West and then turns right and cycles 1 km. In which direction is he with respect to his initial
5 position?

Ans  of 1. North-West
< 2. South-East
< 3. South-West
#< 4. North-East

(& Teachingninia.in
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Q.9 The name ‘Bharata’ is used as a designation for India in the Indian Constitution referencing the ancient mythological
6 emperor, Bharata, whose story is told, in part. in the Indian epic

Ans X 1. the Upanishads
/< 2. the Ramayana

X 3. the Geeta
v 4 the Mahabharata

Q‘g - " . .
7 is used as a catalyst in the hydrogenation of vegetable oil.

Ans X 1. Lead

& 2. Helium
v 3. Nickel
/< 4 Hydrogen

Y fBwm Hr gz =

X22 W23 Al D4

Ans of 1. A
X2D
X3B
Xa4C

Page (34)
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Q9 Which one of these is found in human males only?

Ans X' 1. X — chromosome
X 2 XX chromosome
v 3. Y- chromosome

X 4 2X chromosome

Q1 v 3l I, &, 7% A Tl s g a9 ) W Re, sviea T oo $ T T wi

00 2oy @ Okg 3ME =T SUUNT ST §1 T FF TN & T IO U A A TN 59T F AT F
20% F9EET BT ST L, O 3% s & T s9weT T A 9 @eh 3207 AN # e A
(g #) =T T 87

Ans - 1. 1500
# 21000
v 21800
X 4 2000

(& Teachingninia.in
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